Group A, 
Name ...............................................................
Which of the following is correct?

a) Glottal wave has formants

b) F0 of the glottal wave is responsible for intonation

c) Glottal wave is aperiodic

Which of the following is not correct?

a) vocal tract acts like a filter

b) vocal tract acts like an instrument

c) vocal tract cannot produce F2

Which is correct?

a) amplitude means the same as frequency

b) amplitude means the same as loudness

c) amplitude means the same as pitch

Which is not correct?

a) frequency means the same as pitch

b) frequency is measured in c.p.s

c) Hertz is not the same as c.p.s

Which is not correct?

a) lack of fundamental frequency means lack of voice

b) fundamental frequency is a transient sound

c) periodicity means presence of voice

Which is correct?

a) F1 is produced in the pharyngeal cavity

b) F2 is produced in the pharyngeal cavity

c) both F1 & F2 are produced in glottis
Which is correct?

a) spontaneous voicing occurs in vowels and sonorants

b) VOT lag is an acoustic cue to place

c) velar pinch is connected with back vowels

Which is incorrect?

a) formant transitions are a cue to place of consonants

b) formant transitions are cue to voice of consonants

c) signal attenuation is a cue to manner

Which is incorrect?

a) burst intensity is a cue to place

b) burst intensity is a cue to voice

c) burst is a cue to manner, place and voice

Which is incorrect?

a) fricative noise is a segment-internal cue
b) burst is a segment-internal cue

c) the noise frequency is a cue to place

Which is incorrect?

a) Polish and English obstruents differ in terms of cues to voice

b) long VOT lag is the same as voicing

c) long VOT lead is not the same as aspiration

Which is correct?
a) vowel [i] has higher F1 than vowel [a]

b) vowel [i] has higher F2 than vowel [a]

c) vowel [e] has lower F2 than vowel [a]

Which is incorrect?

a) the intensity of noise in fricatives depends on voicing

b) the intensity of noise in fricatives does not depend on place

c) all consonants lower F1 of adjacent vowels
